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candidates to read the question paper.
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Instructions : '

i) There are seven questions in all in
this question paper.

ii) All questions are compulsory. |

iii) In the beginning of each queston, it
has been clearly mentioned that
how many parts of it are to be
attempted.

iv) Marks allotted to each question are
mentioned against it.

v) Start from the first question and go
up to the last question. Do not

waste your time on the question you
cannot solve.

vi) Write the solution on pages of both
s:&ei oti_' answer book. Write the
iy S QU R, 7 W auestions
You need place fo
; r
It on left pa "ough work, do
and bage of your answer book
h CIoss (x ) the page. Do not write
€ solution on that page. ‘
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viii) Do not rub off the lines constructed

~ in a question of construction. Write
steps of construction in brief, if
asked.

Draw neat and correct figure in

solution of a question wherever it is
necessary, otherwise in its absence
the solution  wil be
incomplete and wrong,
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Do all the parts : |
Four alternatives of the answer of each part
are given, out of which only one is correct.

Pick out the correct alternative and write it
in your answer-book :

a)

95751

If LCM of 26, 156 is 156, then the
value of HCF is

i) 156 i) 26

iii) 13 iv) 6 1
Roots of the quadratic equation
2x2 -4x+1=0are

i) Real and equal

i) Real and distinct

iii) Not real

iv) Real 1
The distance between the points
(-1,-3)and (5,2)1s

) 61 units i) +37 units

iii) J17 units  iv) 3 units 1
The length of an arc corresponding to
a sector of angle 6 of a circle with

. radius ris
. 0 ii 0 nr?
i) 207 x2nr i) 180° x
0 2
) i 2nr 1
) 360""21‘r Y 70
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e) The sides of two similar triangles are
In the ratio 9 : 16. The ratio of areas of
these triangles is
) 9:16 i) 3:4
i) 256: 81 iv) 81:256 1

f)  If cosec A = sec A, o° <A<90’, then
angle A is equal to
i) 120° i)  60°
i) 45° iv) 30° 1
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x+2y=19
-x+2y=1 1
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Do all the parts :
a) A ladder 5 m long reaches a window
4 m above the ground. Find the
distance of the foot of the ladder from

the base of the wall, 1
b) Solve the following pair of linear
- equations :
x+2y=19
-x+2y=1 1

¢) The radius of a right circular cylinder is

7 cm and vertical height 8 cm. Find the
curved surface of cylinder. 1

-d)  Find the value of cos 46° — sin 44°, 1
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3. Do all the parts :
a) In what ratio does the point
P (- 4, 6) divide the line segment

joining the points A ( - 6, 10 ) and
B(3,-8)? 2

b) Find the mode of the following
frequency distribution :

Class-interva) 10-25 25-40 40-55
Frequency 2 3 7

35-70 70-85 85-100
9 5 4

2

¢} Prove that 6+42is an irrational
number., 2

d) Find the discriminant of the quadratic
€quation 9x” - gx 4] =0 and hence find

the nature of the roots. Find them, if

they are real 2
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4. Do allthe parts :

a)

b)

95751

Find terminating decimal expansion of
129

Bx5"
A solid is in the shape of a cone

standing on a hemisphere with both

their radii being equal to 3 cm and the
height of the cone is 4 cm. Find the
total surface area of this solid in terms
of n. 2

rational number 2
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¢) Find the area of a triangle whose
vertices are P (0, 0), Q(2 0)and
R(O,3). : 2

d) Construct a tangent to a ‘circle " of
radius 3 cm from a point on the

concentric circle of radius 5 cm: Write
the length of the tangent by

measuring. 2
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| wfsmow | 500-520 | 520540 | 540-560
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¥) fog =i :

i) sin60° cos 30° —sin30° cos60° = =

BN | s

tan52° tan60” tan38’ tan30° = 1
2 +2

i)

5. Do all the parts :
a) Find the roots of the equation

1
x-—=3, x=0. 4
x .
b) In a right-angled triangle, prove that
the square of the hypotenuse is equal

to the sum of the squares of the other

two sides. 4
Find the mean of the following

frequency table :

c)

Class-interval 500-520 520-540 .540-560
Frequency 12 14 8
560-580 _ 580-600
6 10
4
d) Prove that:
i)  sin60° cos30 -sin30° cos60° = %

i) tan52 tan60’ tan38" tan30° = 1
2+2
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j 6. | Do all the parts : : )

| a) Find the median of the followmg
distribution: https://www.upboardonline.com

95751

: —— T
Class-interval | 15-20 | 20-25 25-30 30-3
86
Frequency 14 56 60 |
35-40 40-45 45-50
74 62 48

4
'b)  From the top of a 10 m high building,

the angle of elevation of the top of a
cable tower is 60° and the angle of
depression of its foot is 45°. Find the
height of the tower.

(Use V3=1.73 4

Solve the following pair of equations
using Cross-multiplication method :
2x+y=5 '
3x+2y=8 4
d)

and 65 cm, Construct another

- triangle similar to this triangle whose

sides are % times of the cor}esponding

sides of the first triangle. 4
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Draw a triangle with sides 5 ¢m, 6 cm -
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7. Do all the parts : A solid sphere is ma Yy

- : id spheres of
a) The difference of squares of two three metallic sol P

: . . 16 cm and 20 cm.
numbers is 180. The square of the diameters 12 cm,

smaller number is 8 times the larger

Find the diameter of this solid sphere.
| | 6
number. Find the two numbers, ¢ |

OR

Solve the following pair of equations :

2 |
33c+y-‘-3x~~y~1

822(AZ) - 3,20,000

1 2 3

P ——

| 3x+y 3x-y 4 6
b) A solid is in the shape of a éone which
is surmounted on a hemispher; of
same radius. If the curved surfaces of
hemisphere and cone are equal, find

the ratio‘of radius and height of the

cone. 6

OR
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